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1 SPECIFICATION RESPONSE
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2 SYSTEM TESTING

2.1 CATEGORY-PARTITION TESTING

Test Failed = 0
Test Success = 168
Test & & = 168/168 * 100 = 100.00%

2.2 PAIR WISE TESTING
Test Failed = 0

Test Success = 84
Test 435 = 84/84 * 100 = 100.00%

2.3 BRUTE-FORCE TESTING
Test Failed = 1

Test Success = 5
Test §&3& =5/6 = 83.3%
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Test Case
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Buzzerjava O A SliiE 22X =8 = Test

+ static public void reqBeep() {

+ if(lelip.isactive()) {
clip.setFramePosition(@);
clip.start();
try {

sleep(5068);
} catch (Exception e) {
e.printStackTrace();
I
clip.stop();

setBeep();




3 STATIC ANALYSIS
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